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e Please check that this question papercontains 11 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 32 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer*book during this period.
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General Instructions :

(i) All questions in both the sections are compulsory.
(it)  Marks for questions are indicated against each.

(iti) Questions No. 1 -5 andyl7 - 21 are very short-answer questions carrying
1 mark each. They.arerequired to be answered in one sentence each.

(iv)  Questions No. 6 =410 and 22 - 26 are short-answer questions carrying
3 marks eachy Answers to them should normally not exceed 60 words
each.

(v) Questions No. 11 — 13 and 27 - 29 are also short-answer questions
carrying 4 marks each. Answers to them should normally not exceed
70 words each.

(vi) (8Questions No. 14 - 16 and 30 — 32 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

(vii) Questions marked star (*) are value-based questions.

(viii)) Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.
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wus A
SECTION A

*1,  3IcAIGT GHAT o HeH H e < fawar & e o1ide qou 1 AW Sarsy | 1

Name the economic value achieved through the spread of education in
the context of production potential.

2.  IYAQr b1 379 &qIST | 1

Give the meaning of utility.

3.  3AdHied ANTdl % &1 IeEW AT | 1

Give two examples of implicit costs.

4.  I& I qfd Pl HUT SAGGR He Hal Al & 2 1

When is supply of a good said to be price’inelastic ?

5. 3cTed 94 W 3fiHd fOr ama i Eedl & ? 1

Why does average fixed cost fall with increase in output ?

6. 1 3cUTE Y hl AN Icq B ® ? THIATEY, | 3
Why does the problem of ‘what to produce’ arise ? Explain.

7. A 3R B KU 9%q¢ @ | A I HEd H glg % B H AT W IAE H
ST SHIfNIE, | 3

rerat
Him # “ghg” < fhmgl 31 RN hl SATEAT HIT |

A and B are substitute goods. Explain the effect of rise in price of A on
the demand for B.

OR

Explain any two causes of “increase” in demand.
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8. 3G & Jodsh T W HIHTA SINTd T IHehaid hITT 3
3T (3hTEAl) 1|21 31| 4] 5|6
3ftaa gitadt @ (T) 13|11 | 10 | 10 | 11 | 12

Calculate marginal cost at each level of output :

Output (units) 1 2 3 4 5 6
Average variablecost (¥) | 13 | 11 | 10 | 10 | 11 | 12

9. ¥ 109l 18 <l hHa W T Iwg HI gd 80 IHE 7 | T 3TN ST TG
T 12 9fd 318 & A 7, 91 gHh! gfd 20 Hfowrd §@ St 301 gfd A o
A 1 IiEhe hI | 3

At a price of ¥ 10 per unit the supply of a good.is¢80 units. When its
price rises to ¥ 12 per unit, its supply rises by, 20 percent. Calculate
price elasticity of supply.

10. qfd a5k & 53 3 Ra@ehd < Foheel g RO HrATEAT HIT | 3

Explain any two causes of a rightward. shift in supply curve.

11. T IYNIRHI hadl g TSI 1 IUUT HLdT 2 R Ao § 7 | fe@msu f& v
&g <hl Hma 3R w § faudiqassa g 8 | Swfan foweryor 6t ggmea |
HHATSY | 4

A consumer consumesqonly two goods and is in equilibrium. Show that
price and demand for.a good are inversely related. Explain using utility
analysis.

12. T 10 9fd SISt hHa | U &g hI AT AET 1500 SHTS B | IHR AT Al
Hrd A= (P15 | o 3HeH! HiHd HEH T 8 Tl 3HTS &l Sl 8, dl SEehl
T HET feha-! BRT ? YRehe I | 4

YT

T <hl ShiHd AT bl Uehedd ohid shl SATHAE fafer shi samean v |

The quantity demanded of a good is 1500 units at the price of ¥ 10 per
unit. Its price elasticity of demand is (-) 1-5. Calculate its quantity
demanded, when its price falls to ¥ 8 per unit.

OR

Explain the geometric method of calculating price elasticity of demand.
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13. T U AR ST9R 6l g&F fomward sasy | 4

State the main features of a perfectly competitive market.

14. SFRWE J5h TIweiol 6l FERIAT § STHIAT o T i STedl i | 6
HAAAT

Teh IUYIHT Shadl Gl Seq3Ti ol IUHIT AT & | ITAAT foversor shi agmeral &
YRR o T hl SRS HIT |

Explain consumer’s equilibrium with the help of indifference curve
analysis.

OR

A consumer consumes only two goods. Explain consumer’s equilibrium
with the help of utility analysis.

15. U HEATHb ICTE0 shl HETIAT T 3cdIGeh o Tqetd hl Il shl ST ST |
T @mTa TR HHTa W (9Tt fefersht suam i | 6

Explain the conditions of produeer’s equilibrium with the help of a
numerical example. Use marginal cost and marginal revenue approach.

16. U %] o Y(d ST H1 o GHSY T Heh &g hl hiAd, AT AR YA
T YHTET 31 ST@AT Sl SFTEAT I | (F@T= T S i) 6

Explain the meaning of excess supply of a commodity and its chain of
effects on price, demand and supply of the commodity. (use diagram)

Fie:  FHEICIREGT J97 HIT FIBFIT TRt & 1077 397 G& 16 & €97 W& |

Note : The following question is for the Blind Candidates only in lieu of
Q. No. 16.

Teh 9% o Gl AR h1 3 THIASY R 3qeh & hl hiAd, HIT R qfd
X YHTE ! HGAT I ST FHIT | (TTAshT 1 =M hHifw) 6

Explain the meaning of ‘excess supply’ of a commodity and its chain of

effects on price, demand and supply of the commodity. (use a schedule)
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Qus
SECTION B
17.  TEE 31 <t giymr S | 1
Define national income.
18.  YSi7a &g 1 319 FaRy | 1
Give the meaning of capital good.
19. GEfy SHC 391 Bl 8 ? 1
What are time deposits ?
20. TR ToTEd TIHAT o & 3ETel ST | 1
Give two examples of non-tax revenue receipts.
21. TTHRI S 91 BIaT1 © ? 1
What is a government budget ?
22. 3T & WEhIT JaTE hl AT HIfST | 3
Explain the circular flow ofincome.
23. gl % oI Had i hl AT HINT | 3
HAAAT

“HTERT o SR o WU H heald Sieh ohl Y[HERI ehl SAREAT HIFT |

Explain the ‘store of value’ function of money.

OR

Explain the role of central bank as a “Banker to the government”.

24, 3Hd S9d Ygfd 1 A FARC | Fd A TGNk Y TEHI T FEY
I 8 2 3

Give the meaning of average propensity to save. What is its relation
with average propensity to consume ?
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25. A Uk T 31 AHSST | SHRT =AY R Alhad qeI R g dhal 8 2 3

Explain the meaning of investment multiplier. What can be its

minimum and maximum value ?

26. WM FgaH @M % @] @Td 3R YSTTd @Id § $9h Tehi o YN W HG
T | 3

Distinguish between current account and capital account of the balance

of payments account on the basis of its components.

27. TS o ®r@ Ao fFe TR wd B ? U ITEWl K gERdr 9

HHATSU | 4
STqaT

Gl SR o hIhelld 1 37 FHIAT, | hrad deh. qaT qfd bl FEHE & &

T sEenT T 8 AT B 2

How do commercial banks create cfedit’? Explain with the help of an

example.
OR

Explain the meaning offopen market operations. How is it used by the
central bank to contrel money supply ?

28, Tr=fcifga 31iehgl & “Hre @ W o qoa gafg” 1 Iiehad ST : 4
(& @l 7)
() nAEIIdT IUHNT 300
(i) &I H UfEdd 50
(ii) oa Aucay = 70
Gv) feshi 500
(v)  oT=d Yoil T STHA 20
(vi) AR 40
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Calculate “Net value added at factor cost” from the following data :

(Tin Lakhs)
1) Intermediate consumption 300
(11) Change in stock 50
(iii)  Net indirect taxes 70
(iv) Sales 500
(v)  Consumption of fixed capital 20
(vi) Imports 40
*29, had oo fageft ggr i FHiwd g W FEEw wH % e ®en I 7 |
THARY, 3EH HIF-H HTMUH Yo AMHA & S o6 3TH SGHT HaE4d & | 4

The central bank takes steps to control rise iaythe price of foreign
exchange. Explain the economic values it involves as far as the common
man is concerned.

30. “Sftheh TSI A’ I THhald hIfoTT . 6
(T sl 8)
(i) TSt &3 1 B AT faa
T 3G § AT 700
(i)  fFm 40
(iii)  focEn | fHae SR T .20
(iv) oo™ 50
(v) i3St fomfia & <t s 150
(vi) TR H <] FETau 80
(vii) TEHR R0 9 A 60
(viii) ERi grT fou T e 70
(ix) foeen =t fae = gwdia (-) 10
3o
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T 3T T 9ieha IR : 6
(¢ gl 7)
i) Trew i G feia 150
(i) TNl AT ITHT = 300
(iii)  focEn & fFad SR =™ (=) 20
(iv) Tosht srfeam 3o = 600
(v) HeasH™ 30
(vi) Trew fata 50
(vil) Tioe sTIcae ot 90
(vii)) 39 fava & fee =me] gearaw 40

Calculate “Personal disposable income’ :

(< in Crores)

(1) Net domestic product.at factor cost

accruing to private sector 700
(i1)  Corporation‘tax 40
(iii)  Net factor income from abroad (=) 20
(iv)  Depreciation 50
(v) Savings of private corporate sector 150
(vi)  Current transfers from government 80
(vii) National debt interest 60
(viii) Direct taxes paid by households 70
(ix)  Net current transfers to abroad (=) 10

OR
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Calculate national income :

(< in Crores)
1) Net domestic capital formation 150

(i1)  Government final consumption expenditure 300

(iii) Net factor income from abroad (-) 20
(iv)  Private final consumption expenditure 600
(v)  Depreciation 30
(vi)  Net exports 50
(vii) Net indirect taxes 90
(viii)) Net current transfers from rest of the weorld 40

31. (31) w@rd fFaw i Ifa faw & sfiw 8T sam |
(9) U AITEAT b G § T AHSR o YR W IFh! AT & T

TR T IHha i, 6
() T 3THM = 100
(i) HHASYHN Ygk = 0-75
(i) e = 5000

(a) Distinguish between autonomous investment and induced

investment.

(b)  On the basis of the following information about an economy,

calculate its equilibrium level of income :

(i)  Autonomous consumption = 100
(ii) Marginal propensity to consume = 0-75
(iii)) Investment = 5000
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32. fmfafga # 9e Hifvw | g% =1 Th-ts Iergwo off AT | 6
(31) TTE L I IITLT B
(F) o =T IR g 2

Distinguish between the following. Also give an example of each.

(a) Direct tax and Indirect tax

(b)  Revenue expenditure and Capital expenditure
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